MG gy pB37 R L

BREERE BAxERS)
mamks FotRB - Btk

(1) AZ#ZFAEEELR - SHRBEERDEHE,

AERAP e FRet e 3 FAftsFAFaod ~a-3"t e, LTt FThvtifrde
Wlog o & ca-2 FREMNProoe . k#bol CTEECTIT- 20, Er-. (MR ThE
VEO LB REITCINEAT R v e &, [~a7"GFERIR (2 ;RHEL =0

(2) BARHEELLTOZRBROEDHIZDNT,
(128

F0 RERTRLLIZL L Tep ot (thig o —fRXA -1 T L EFE A E2TE [0

Chriad EBEME BREZ w0 GeiB T Ll F (o BRPER qTCI | fRER

(- T(& Fraqicc I a px 88 Ftx o smWaldacdn B EEe s e ot
NUTERAC Bl @Iz aFb) ('C389 -t KERNFRP 3T FRTIVE =0

(k3]

Cothe RERFRCTH AT VEEAT 0 B B R0 TERIXTEE 14 % fB-2  TF0 7",
BERFAE T - ReiE I ol vElo BRIt FBTR VR IL GHAIE Y =
(X\'a]"'%"éa(,lv\" FBotg s " hrstipe3 RN Fen 70 ;BB - Fou Tl
ez e T BE LT3N 0 (- (B -T2 YLt B0 thir (- B T2 LT
BN t'org At aBeS (- L6 CEAFE (-0 (Lt feliE . (o ER CED (2L TVEL E0

(2 %8~ ARE )

G- Bt QAR TFRGE (LT e GRRJ 2 iR [0l S atE p s T F t BETLON FEL = o
tr o5 07 s i1o LRR I 20 0o (FFkn G2 (- BP 2 hSFE E BRI L LS 1 SEhRr(E &
NGYorkb o (FETRRI AP P B (= TRBIBLE [0 % (MH(-YR4F T 103 08B 5K

AAtipa o T — REAGN U IBIBR T TR T BR LV E e KERGHR TR TRBGA G LT
)- 2 {'E- 1@ g SRR Y XA F (253 R753 7 T B e #RER T

Slzem, a1k (L@fﬂ(&zﬁa?&%zﬁrﬁﬁé BRCRATII S LT E Ll BBk G XU,
ok o Do oti (TG h oY 1¥ Nl B 0V 0TI LR EI (L LVELTE,

‘E)lulo%m?
(3) ZO—FEMOZREFBFEIIBVNT, ZRUBLEEROTERCI/ I TEHGOWNIL., BEETCOEE. FLE®
ARX—h T+ FEDHEEGVA. AT EZOHBEIIDNT,
ERFzVEE:6 o'y FRIRMIEC t o e eshodfe) CARR /e Ze o PUEC 6t A
LR 0t H( 000 -6 hpa[en? QuEU - R FRARTI EEBond Pl Reda gt
P TV EClm0o Rk 71z Tnstagrem © — B liotin Conrohlin' (-0 TL2F
e ?,ﬁu’t GNS 1+ LINETZ(-LEr=o NowTube (2 E/» @ £33 7i YouTubpe F+' 212
Fr@trteR3ce(cit (B |FL AL 2FFV RO TR TNFE 0 )fm%(l/(‘f
29 ﬂ{ S AN AN {o‘c Yoo Twnbe B 7= 014, tww\i7f)\”‘h9(v_?<( FEoh . 22—t 71
BHe T IFFE T

/“'()iQ(T\

(4) BREKAT. BREDHABRIANDAY E—T,
G BeiEdas et Kep Tt tpia g L ep T BgrIcRe-k 71 T ATY B
'(f,\/.%%‘tgﬁ»(ﬁ(, 2D K %L\(lﬁgﬁbééq‘nh\“& 1% fe V‘{%-Tﬁ\*(:f&‘, 1viElo P&
oL A AR Gl AR Ca S A b kA N A LT LA LA E o B LT R
tit Bguti 36 ivw(—m rdEStERITE Qo(rlfﬁv-lri'trnﬁ%ﬁﬂa( (T8 EO (- FRIR>1 Tdvio




